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6o b B 61T UL Lingriy ST HSHVILD, alfleurs allenL_werd@Lb
alemBUTVID 2 6iTeng)
This Question Paper is Descriptive Type in Degree Standard

AldIMHIHTNTOIEH SO  IOBBID  QYRIH0  QAUQAIRISTNED 2 66N
JCpamidb  FHGHaD  @pUder, GmES0  eaugeled ST (HelTen
GBILLSG6T (LY eUTEIZ)

The Question paper is printed in Tamil and English versions. In all
matters and in cases of doubt English Version is final.

8508z Temeu QUTBISHSH6UEMT, DIPFHTH IENRIEN S E: LoBMILD
LTemLouUT606VTLOGD ST HWHBHTHGeuT SHENWITS LAHIGLIGNTTSH6NT
QBIHBLILIL 1606960

There is no reservation of marks for neatness of execution and
correctness of spelling in respect of this paper



Uifley — o
SECTION - A

(WasFffw emaled allenLwefdb@ b alle)
(Very Short Answer Type)

(G

Note:

il.

iii.

RalOuTaIBGWD 30 QFTBHEHHEG WML alenl Wiefldsalb
Answer not exceeding 30 words each

@6IQeuT(H alemalB@LD cpeiil SHIOLICETS6IT
Each question carries three marks

CaThsHslulBeten  (PULUHMSHEH alamodselled sTemeuCuenid (LG
aleTebH6EHHE L (B el wieldsealb

Answer any thirty questions only out of thirty five questions

30x3=90

UNIT I

‘OFaiener OTHeVD 61eB OLIWIT SODBHTH™ 616Nl LOTBBLILLL &I 6leleuTsI?
How was the name Madras State changed into Tamil Nadu?

‘OF airement LOTHVSHHST  BITeVS  QUSEHIBTSET  HHoODH s
Slaleamfledmsd  CF QuITT EUTHmeTl LS (PQUiD’ -  BdHamBennm
BTG SHSHIS

Avinashilingam Chettiyar can be counted as “The Father of Library
Movement in Madras State” - Justify

LeOIT 2 | iLgShensule (IpHSUSHBHINSHNDH F(HHHIOTH U] D
Sketch the importance of the Poona Pact

STHTLE DenFulledl (WHeTenld BuleoLsemend GHBILLIGS
Point out the Chief features of the Carnatic Music
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5. 1964810 opewi® o _ewiey LITFFmeTenul  GTHTOBTETEN  6UT6D  LIBGHMT
gmevgfl 1BHSD BHLUGHNHH6T WITen6u?
What were the measures taken by Lal Bahadur Shastri to tackle the
Food crisis of 19647

6. (perveSidBemen  (IPSTCABBIAIHED  SIBTT  BUSDEHHET  LIkIES e
GNNICL:3
Point out the Aligarh Movements’ role in uplifting Muslims

7. 2medwiest aumeuTUTS LBOBTN J6il BBDHHHI?
Why did Jalian Walla Bagh Massacre take place?

8. amhdHuiear &8s FHLsFHar (PpeHussasHmsd GBIULIGS
Trace the significance of the Swadeshi Programme of Gandhiji?

9. Guemiseflesr GUT 9B Ch(H Siya CBETEWIH UbHSH FLLHIGH6T WiTenou?
What were the acts passed by Nehru Government for the upliftment
of women?

10.5eps FTHMHSHH BUSsHHBEG FevauT &b elswrarnsilear (pobaul
LIRISen6T  Fnmidh
Mention the important contributions of Ishwar Chandra Vidhya
Sagar in social reform movement.

11.“s586 BT RUSHET FBLILISM6NT UMTSH
Write the significance of “Kathak” dance

12.1885810  ouewi®  SmHISTe0 S Suler  (pHev  OMHTH  (WbewLIuTeD
BLSSULIL L FHI 6Jeor?
Why was the First Congress Conference held at Bombay in 1885?

UNIT II

13.x e etewr Yy etetiB eTemiewemt &l 10% @GHewBBBID, Y 6163  6TeuTent 6t
gy 130w ol 10% oiHsworsad SmbEHTe0, X-681 WHIL HTRISH
If a number x is 10% less than another number y and y is 10% more
than 130, then find x.

3|Page



14.9m uadhHTendUle WBHTET Hefeul QuiTendl (PHeSL B CgTenasulsd g
UGHWTSGD. eul'ly eiHlD WBMID HTeVD DLSUIET 61601  LODFHILTED  FLOLD
aTeullen, SlQUBENBDH HTCWIH
The simple interest on a sum of money is gof the principal. Find the

rate of interest and time, if both are numerically equal.

15.9m ued sFdayshder el LD 140 QF.5. @ wenll CBrHFHed 66 &.15
Cousdhrmd HE5& maubd FoHBID @b CUTH aHHME SWBFHET QU
BIOL 5360 gBUBSSID?
The diameter of the wheel of a bus is 140 cm. How many revolutions
per minute must the wheel make in order to keep a speed of 66 km

per hour?

16.a:b=5:9,b:c=4:7 o4 Siiar a:b: cer wHlienu Sremes
Ifa:b=5:9andb:c=4:7.Finda:b:c.

17 a1 p&ayrafuiler SemTbduIed LIGWHILIGM6N 61(LDHIH
Write the mathematical properties of Arithmetic mean

18.9m GmbuSHar 2005 DEgBHTRT OFeva| leufid SPHBTEID Ul L
AUMILL HFHL OBTHHSBLILIL (BelTengl. OLoTsHsd OFeve 900 6leNed 6UTL M,
&eval pmId CFINeT CFHTensullenerd SHTeTa]LD.

GaLdlLiL |

_ srULImy

QUTL 60

The following is the pie-chart showing the expenditure in the year
2005 of a family. If the total expenditure is 900, then what is the
amount spent on food, rent, education and savings?
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Othérs R

Education

19.9m wmsHseuwmer UHCL 1960  WHIBUBPYBETE  WHefT  FHHISUIHHS
BT SeMer alugld H6 OBTHHBLILIL (HeTenI.

SRIBUNHHS BT H6M60T 6160676001 H6NH 3 |45 |6 |6 B smen
()[BT F: Y1)
LDSBGYIT 6160016001 &M B 15 |32 |56 |19 5
adauBrenid @heueny Foeumuili] (ewmuled CHTHosbBHEGID Burgdl SiauT
GMBHSH LULFID 5 BT . &H6T SRBHUIHHS HHDSHH6| 6160Ten !

A Hospital records indicated that maternity patients stayed in the
hospital for the number of days as shown in the following:

No. of days 314 |5 |6 More than 6
No. of patients 1532|156 |19 5

If patients was selected at random find the probability that the
patient stayed atleast 5 days.

20.@m mmouiled 1 Heuliy, 3 uFemd, 2 Hevld, 4 1DEHF6T LIHHIH6T 2 6iT6renT.
oomeuilelBbhal @ UbDS BHHITL  DiFH  LFmHFLITSCUT D606V
ehFenTHCeuT BHUUSBE HHDHH6 WITH?

A jar contains 1 red, 3 green, 2 blue and 4 yellow balls. If a ball is
chosen at random from the jar what is the probability that it is yellow

or green?

21.86p QaTheEsiIl (Heten Henarasmibeia alfleauTdshmd HID
8. CD-ROM
&, EEPROM
8. DRAM
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Expand the following memories:
a. CD-ROM

b. EEPROM

c. DRAM

22.W&6ewIh  GTRIBTe0 6Tadien? @ HGeom  erawTldbHeNed 615HIHemer 1 EH6uT(HH6IT
o eitenenr EBCDIC eratugenr alfleurdasid ereitent?
What is a nibble? How many nibbles that a kilobyte contains? What
does EBCDIC stands for?

UNIT III

23.gienlldemen SFHHD OFUleumBE Fevenal GFTIL eeleuTH 2 H6|dHnBaI?
How does detergent soap help in cleaning the clothes?

24 @efl SLewi(B  6IIBTeL 6leiien? SiHedT WFHllewenr SiFHet Sl 9euBsTlH
SH%
What is one light year? Give its value with units in SI system?

25.9m Boen s WaBhsAuileig, OSICHHG Hmewer UTH &G0
HTT6uNH6T  WiTeneu?
What factors affects the capacitance of a parallel plate capacitor?

26.5m6M&50BT6060H6IT  eTeleUTH  UMBLILBGSHISLILIGH @GB!  eeioleuTenmsiB@ELD
QT 2 _HMJewID H(HB
How are herbicides classified? Give one example each.

27.gempwied 2 1] (Camouidb GHGenmedy®) HeL  HOIHBHIGTNH. DI
SIDVHHEMD (D) SMTHHEMD (D)  HHHMVHHEDID 2 _6iT6NSHT
SMIEWID .

The Table salt (Sodium chloride) is dissolved in water. Will the
solution by acidic (or) basic (or) neutral? Why?

28.0F60 GamuT®B eTeIBTeL  eTaied?  DIBHGHTL LT ML (LpeTOIOTIOHHeITH6I
wImeuiT?

What is cell theory? Who proposed the cell theory?
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29.2 uifl pHOTHSHH6O LWSLGHSULBD (PTDl LPevSHInml  H(He SenETULD
BBl HEHH Lesmenud ouuwmbas
Give any three molecular tools in gene cloning and their respective
functions.

30.Cunm alemeney — eueFUIMI
Define Bohr Effect

31.umed LememtliL] 36TH6IT 6T6HTBITED 6T65T60T?
What do you mean by sex-linked genes?

32.@xmL_meiidmemen, SLeTgBGHmLmeideflelbhal CaumiLiBhehddHann
Differentiate codons from anticodons.

33.ompaIuT ke Heupter LweLm® (Drug Abuse) ereismed sreren?
What is Drug Abuse?

34. 91060 WD — GUEMTUIBI
‘Acid Rain’ - Define

35.qm eTemLOlule0 6156601 BI6WILO & 61T B HBGWD? 615 HENET
HBeumetanilbHe @ OosT  eemidenuids  GBlEHBH? ASCII  eraLgHebm
alifleundald  6r6dT6n1?
How many bits does a byte contain? How many kilobytes does one
megabyte represent? What does ASCII stands for?

iifley — <3
SECTION - B
(FmBaTE alenl Welld@Ghd allenm alens)

(Brief Answer Type)

SMILILY:

Note:

1. @6l0euT(h alemalB@d 120 CFTBHEHHG LOSTLOED
allenL_ W6l a]|Lb.
Answer not exceeding 120 words.

11. ealGleumH alemalB& 6B SHICLIEHIHET
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Each question carries eight marks.

1. Oar@dsiulGeten LUHC B alamsbseilsyd ameabuamid LHmerb
alemebHEHHE L (B0 el ulelldasea|b
Answer any fifteen questions only out of eighteen questions.

(15 x 8 = 120)
UNITI

36.50p® (paGaBBHHBEG BHbH A ubBlul Crameaisemen alflaurs 61(1pHIH
Elaborate the services of the Justice Party for the upliftment of the
society.

37.1993 oub et UehFTWSEHIITEY FU L SHHeT FABLismen uis
Discuss the salient features of Panchayat Raj Act of 1993

38.1953 gub Sewih T Hell SHHT LOTHEOD o (HeuTdhHILL L &7
Why a separate Andhra State was created in 19537

39.8pmel. BTG GBeHs F.Oegr  GQuiwmfear  smHHUIL  aueTalemet
wHIINGS
Assess E.V.R. Periyar’s conceptual framework of Dravida Nadu.

40.510pa5H60 ‘QUILH BLBH0 UGS 66elaldHd QISSLILILL GI?
How was the social evil of ‘Pottu Kattuthal’ abolished in Tamil
Nadu?

41.05eatemert  OTHlVHH 60 LIBOLUTSEG 6uTd) Hlevlomaiul  (LpedBUTeT  TFFMmISH6IT
oIS HHBLILIL L 6017
How was the remains of the repressive feudalism done away with in
Madras State?

UNIT II

42 5g5H  Dmaishd  UbSHIGBEHD  25%  algsHHed  SF ST,
uglitenallell FHaisH LOTHBBHMS HT6EWwISH.
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If each side of a square is increased by 25%. Find the percentage
change in its area.

43.@56w1(h elewibelen L5.QUTD 14 LBIEG W.0uT.eu o6 Siifer, 1.6,
B.0um.eu alel gl B OHTend 600 SHaD, T etewl 280 id SHLLTer,
LOBOIBT(H 6160160601  STEII6LD.

L.C.M. of two numbers is 14 times their H.C.F. The sum of L.C.M.
and H.C.F. is 600 if one number is 280 then find the other.

44.qm gyrgfuier uemisamen alaufldbaea)b
Explain the functions of an average

45.9m 40 awsHTGHD woeal sieeleT 70 euwigml  auewy o ulGymh

BBULSBHTE  [HHDSHH6] % LBOID 50 MWSHTGW Hewreuest 80 eUUIG)
ey o2 wWiGImG GS;BUUSBSTRT  HHLDSHH6] % DGLD.  BDDHSHemIL

BBLDSHBH6BM6DH SIS

9. Brewih Cuepd o ulGImh AMULSBEHTET HHLDHH6)

&l weneial W G o ulGImE @S mUUSBHTERT HBHLDHH6]

®. @m WLGL 2 wWiGIme SmUUSBSTRT HHLDHH6]

F.  GOBHSULFD @HeuITaudl o ulmG SmUuSBSTear  HEHDSHH6]
SLFIBENBS  HTE0T6LD

A wife who is 40 years old living till she is 70 with probability % as

the husband who is 50 years old living till he 80 with probability ;

Find the probability that (a) Both will be alive (b) Only wife will be
alive (c) only one will be alive (d) atleast one will be alive

46.570] BHdsHHM GBTeTaTTMA CIAIQITH 2 UITHS (IpQUd? DIFH GBGHS)
CERI
How can one increase data storage capacity? Write about it.

UNIT III

47. B  sLHFHF6MN0  LWSLGSSLILGLD P-6uehd  LDT&SS6T  EJ6wmIgenes
GPRUIG. Bmel, @ GoB SLHHUlmen LTHLUGHHID Curg eledret
Ceuidleimer. LIs lenlbCaTemeauulerd UL eueJbhdl, OCeToTeiuidded
BOLOUDID T&HUBSSHID Hehalenear alendE
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Mention any two materials used as ‘p’ type impurities in
semiconductors. What does it do when doped in a semiconductor?
Draw the crystal lattice diagram and explain the doping
phenomenon in Germanium.

48.ammBunyemisH&Her SWTMLL OBBID LIWITISHMm6NT 61(LDSHIH
Write the preparation and uses of carborumdum

49.50mgHCaT LUTH  UMTWDBISS DS TIQTB FUTF  (lpevdhdnml CUTBISSI
TBILGHBH! eTeTLmS 6N EGD
Define Respiratory Quotients (RQ) and describe how it varies with
respiratory substrates.

50.4GymCaMBwimgd Qg e0®61eV(HHS) w,BCaMBGuimgd GF60 eTeleUT ]
GoupipaIma?
State the differences between eukaryotic and prokaryotic cell

51.Cumens QUITIHEIT LILIGTLITL IQMBE&TET  SHTY6nIBIGHmeT 66T @d
Examine the causes of drug abuse

52.5BpIF@60 HTar Siflev empuler LTS lener WHINBHS
Assess the damage caused by the acid rainfall on environment

53.8yewngesr MBI (Wempuled LleTaumd HPHHmeL CFUILIOID
9J. 11000 — 10000 9. 10101 — 10001
Subtract using 2’s complement
a. 11000 - 10000 b. 10101 - 10001

Hfley — &
SECTION - C

(F(HSBIOTS alenLweleb@GD el euend)
(Detailed Answer Type)
G
Note:
i. @6106uT(H alammalB@d 250 CFTBHEHHE LOSTLON
allewLweMdbHa]LD.
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Answer not exceeding 250 words.

.  @ealbaurm alamalB@h uSHeeanbdl LOSILICLIGKHTSET
Each question carries fifteen marks.

iii. OQ&m@sHslUl(BeTen  @aUg  alaméselled  aameuBuend  Suml
QeSS EhHE SMBHSLLFLD @R alleneney a6l Gleum(m
uUGHWembE CHTHOSBHSHI alenLwenoHsa]wn
Answer any six questions out of nine questions attending
atleast one question from each Unit.

(6 x 15 = 90)
UNIT I

54. 5605 1meMer  GobUT 19BE, ©_MPHD  (IPHED  HEWGVAIT 61603
Sl uled SIBWTHEH HTF UmIYSHMILI LB 61(1LDSHIS
Write about Ayothi Dasa Pandithar as the first Champion of dalits
upliftment

55.8pdwmaled  QeuaiBeum Fow-FpS  BUIGIHRIBET eTalaIBHD  LNETHHmISU
BFeomwF FepassHmd BCxFw Siealed (PGB MEUHHT  6T6TLIHMBHT 60
auFeUTmBenm 1916810 SewiB auedy Sule] CFUIH
In India, examine how the various socio-religious organisations and
movements uplifted the backward Muslims in the National Scenario

upto 1916

56.“arHion SMHH @b FAMHH DTFUID HemeLeUT DL (BLO6V6D. LOTBTS LOBF
Fbs Feps EUIT(HEMTHITY FTH(HSHHUTSH . GLoGev aBLIUL L
AUTHHWSH6T DigliienLulled SMHAWIQHeT SHAWTAIBSTES CUT[HETTHTFLD
IOBEID FPESSBE ADBBU CSTETYDET DYITUIE
Mahatma Gandhi was not only a great political leader but also a great
socio-economic reformer? In view of the above statement evaluate

Gandhijis contribution to the economic and social spheres of India.

UNIT II

57.9m Gauemevenws Q-ayib R-b Gafbg Ouigd o6 Gprshdled P-uimed
Guiapgud.  Pupp Q-aip Gsiphg 2185 Gauewevenus 12 mHIL H6fled
Qauigl psHs (pgujb. Gweib R 1l G £18% Geauemsvenus 60 BT &Heifled
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(WYdHs Wuld eeapTed Q-euted aIhHemen BT &6fled SHFH Ceuenevenul
Pl9ds WIgULD?

P can do a work in the same time as Q and R together. Also PP and Q
together can do the same in 12 days. R alone does in 60 days. In how
many days can Q do it alone?

58.m B&wm euwpFsmemeouleon @GUEIILL @  BHrefled @b BTeuevT
aursamisaiear Coaisdhmsd Carmemer QFUISTT. SauT CFrhemer OFulsh 160

QT & 6OTMHIH 61T 63T Bousmimerler 1IN AL LI 1QUI6D &GP
O&sTHHBILIL (HoTerngI.

Gausid (BB / [2029 [30-39 [40-49 [50-59 [60-69 [70iD SBBG,
Loeofl) GLogyitd

QU 6OThIH 61T 60T 14 23 28 35 52 8
6TCUOT6U0T b6 &

RH  UTHOIHMBF FoauTuIl] (wepuled GCHTHOHBHGHI Burgdl DiHesr
GoussLd

o 69 A / wenil-m ol DFHB0TH

o 20 &8 wenluledmpbas 39 His / wewil eueny
®. 60 A / welbG GMBauTs

F. 40 &8 / wenluledmpbas 69 &S / wewll eueny
@6UGUT(H GHLOe0F6 M6 HobHBHalenen Hem(BLIY

On a particular day a policeman observed vehicles for speed check.
The frequency table shows the speed of 160 vehicles that pass a radar
speed check on dual carriage way

Speed (km/h) 20-29 (30-39 |40-49 [50-59 [60-69 | 70 & above

No. of vehicles 14 23 28 35 52 8

Find the probability that the speed of a vehicle selected at random is
a. faster than 69 km/h

b. between 20-39 km/h
c. less than 60 km/h
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d. between 40-69 km/h

UNIT III

59.8uiBensuiled SIEMLOHF (HEBGLD SliglILIenL alleng Heifleir g8 aIld
cwaslenaid gapll alfleurs alendEs
State and explain in detail any three of the fundamental forces in
nature

60.smevauTeld 06TH60HH6 auellafduwimer LT i9gener aleuf
Discuss the commercial applications of Galvanic cells

61..oa01HTHeMeT  auTDHma  GOUTLIged  FHTeugmisemer UkE uBp  alfeurs
STURSELD
Enumerate the importance of plants in human welfare

62.10601% HCITHHUISHHL FBMBIFSHIDIST LIS alenda@d
Explain the role of environment in human health

13| Page



